Mathematics Date:...ccceuvnennns
Factorising Quadratic Expressions

Exercise A

Factorise the following:

e R ' 2. x2+Tx+12 3, 2 +8x+15
4. x* +10x + 21 5 x4+ 8x+12 6.y +12y+35
7. 92+ 11y + 24 8. y2+ 10y + 25 9. 37 4+ 15y + 36

B 2° — 32— 10 I = =g ] 12.z*+z—6

Bl % — 2x — 35 14, x2 — 5x— 24 15, x2 — 6x+8
16. y> — 5y + 6 17. x> —8x+15 18. a*—a-6
19. a® + 14a + 45 20. b2 —4b—21 21. x — 8x + 16
2, ¢+ 2y+ 1 23, y* —3y-28 24, %t Lpiap
25, x? — 8x — 240 26. x? —26x + 165 27. 2 + 3y — 108

08, x° — 49 29, x* -9 . 30. x* — 16

31. The terms in the expression 2x % 4 12x + 16 have a common factor of 2.
So 2x% + 12x + 16 = 2(x* 4 6x + 8). Complete the factorisation.,

32. Factonse:
(@) 2x>+4x—30 (b)) 3x?+21x+30 (c) 3x* +24x +45
(d) 20 —6n—20 (e) Sa’+Sa—30 () 4x* — 64

Exercise B
Factorise the following: A )
1. 2x% +5x+3 2. 2x%+7x+3 3. 3> + 7% +2 4. 2x2 4+ 11x+ 12
5. 3x> +8x+4 6. 2x>+7x+5 7.3t <53 8. 20x% <~x—15
9. 2x% + x—21 10, 3> —17x—28 11. 6x> + 7x +2 12. 3xf— 11x+6
13. 3y — 11y + 10 14. 6> +7y -3 15. 10x* +9x+2 16. 6x> —19x+3
17. 8x* — 10x — 3 18. 12x* +23x + 10 19. 4y” =23y + 15 20. 6x° — 27x + 30
Exercise C

Factorise the following: -

1. posig? 2. m* —n? . U 4.3 =1
5. x2—9 6. a* — 25 A g # il
i 4 9
9. 4x* —y* 10. a® — 4b* 1L 25x% — 42 12. 9x? — 16y
13. 4x° — 1'00 14. x*—x 15. @’ — ab? 16. 4x° — x
17. 8x* — 2xy? 18. y* — 9y

19. Find the exact value of 100003> — 999972,
20. Find the exact value of 1500002 — 14999982,

21. Rewrite 9991 as the difference of two squares. Use your answer to
find the prime factors of 9991. '
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